

Toxicological Evaluation of Aqueous Leaf Extract of *Phyllanthus niruri* in Wistar Rats

Maryam Usman Ahmed¹, Thomas Martin Ijimari², William Anthony³,
Idongesit Etuk⁴, Ayinla Abayomi Abdulfatai⁵

^{1,2,3,5}Adamawa State Univeristy, Mubi, Adamawa State, Nigeria

⁴Federal Polytechnic, Mubi, Adamawa State, Nigeria

maryam.usman@gmail.com

Article Info:

Submitted:	Revised:	Accepted:	Published:
Apr 22, 2025	May 20, 2025	Jun 2, 2025	Jun 7, 2025

Abstract

Natural products have long been used as therapeutic agents; however, many lack comprehensive scientific evaluation of their toxicity. This study investigates the potential toxicity of *Phyllanthus niruri* (P. niruri) aqueous leaf extract in Wistar rats. Twenty-five male albino rats were randomly divided into five groups of five animals each. Groups 2 through 5 received daily oral doses of 100, 200, 400, and 800 mg/kg body weight of the extract, respectively, while Group 1 served as the control and received only grower mash and distilled water for 28 days. Toxicological assessment was conducted through hematological profiling and evaluation of liver and kidney function using standard biochemical methods. The results indicated a significant, dose-dependent increase ($p < 0.05$) in the levels of alanine aminotransferase (ALT), aspartate aminotransferase (AST), and alkaline phosphatase (ALP), suggesting hepatic stress. In contrast, albumin, creatinine, and urea levels did not differ significantly ($p < 0.05$) from the control group, indicating no observable impairment in renal function. Hematological analysis revealed a significant decrease ($p < 0.05$) in packed cell volume (PCV) and red blood cell (RBC)

count, while white blood cell (WBC) count, hemoglobin (Hb) concentration, and mean corpuscular volume (MCV) significantly increased with higher extract doses. These findings suggest that while *P. niruri* is traditionally regarded as a natural remedy, its aqueous leaf extract may induce hematological and hepatic alterations at elevated doses. Caution is therefore advised in its use, particularly in unregulated or prolonged applications.

Keywords: *P. niruri*; Liver; Kidney; White Blood Cell; Packed Cell Volume

INTRODUCTION

Medicinal plants represent the oldest form of medication, used for thousands of years in traditional medicine across many countries worldwide. The empirical knowledge regarding their beneficial effects has been passed down through generations within human communities (Khan, 2014). Natural products play a crucial role as a source of drug compounds, and many modern drugs derived from traditional herbal medicine are now utilized in contemporary pharmacotherapy (Patwardhan et al., 2008). Consequently, medicinal plants hold great importance because of their unique characteristics as a vast source of therapeutic phytochemicals, which may facilitate the discovery and development of novel drugs (Azwanida, 2015). However, most of these traditional herbal drugs are produced and obtained without having been scientifically assessed for their safety.

Phyllanthus niruri is an annual shrub that can grow between 30 and 100 cm tall. Its trunk consists of a large, round, smooth, hairless stem, approximately 3 mm in diameter and green in color. The leaves are compound and arranged alternately (Obat and Indonesia, 2008; Triyono, 2016). Each leaf features 15 to 24 ovate leaflets with blunt tips and rounded bases. The leaves are about 1.5 cm long, 7 mm wide, flat-edged, and green (Triyono, 2016; Ezzat et al., 2020). Flowers appear as single blooms located near the petiole, hanging down, and are white in color (Meilani et al., 2020). The petals are star-shaped, while stamens and pistils are not visible. The small crown is white, and the fruit is round and flat, approximately 2 mm in diameter and purplish-green. The seeds are small, hard, kidney-shaped, and brown (Meilani et al., 2020). The *Phyllanthus* genus contains over 600 species distributed throughout the tropical and subtropical regions of the world (Ezzat et al., 2020). Plants in the *Phyllanthus* genus have long been used to treat liver diseases (Calixto et al., 1998). The *P. niruri* plant has been reported to possess anti-inflammatory, hypoglycemic,

antiviral, antioxidant, hepatoprotective, and inhibitory effects on renal stone formation (Shilpa *et al.*, 2018). The *P. niruri* plant is widely used by the people of Central Sulawesi as a remedy for diarrhea, fever, and cough (Ifandi *et al.*, 2016). The leaves are effective in accelerating wound healing as an anti-inflammatory agent (Couto *et al.*, 2013). *P. niruri* has also been traditionally used to treat several ailments such as jaundice, kidney stones, flu, fever, and diabetes (Suraya *et al.*, 2021). Several researchers have discovered that *P. niruri* possesses anti-tumor, antioxidant, anti-carcinogenic, and hepatoprotective properties (Chatterjee and Sil, 2006; Harish and Shivanandappa, 2006). This study evaluated the toxic effects of *P. niruri* aqueous leaf extract on the liver, kidney, and hematological parameters of albino rats.

MATERIALS AND METHODS

Plant Material:

Fresh leaves of *Phyllanthus niruri* were collected from Mubi North Local Government, Adamawa State. The plant material was taxonomically identified by a Botanist in Botany Department of Adamawa State University, Mubi, Nigeria where the voucher specimen was deposited.

Experimental Animals

Twenty-five (25) healthy Male albino rats weighing about 100 g to 160 g obtained from the Animal Resource Unit, National Veterinary Research Institute (NVRI) VOM, Plateau State, Nigeria were used for the study. The animals were housed at room temperature in wired cages for seven (7) days acclimatization under standard environmental conditions before the initiation of the experiment where a 12 h light/dark cycle was maintained. An ethical clearance for conducting the experiment on research animals was secured from the University Ethical Committee prior to the initiation of the experiment.

Extraction of the plant material

P. niruri leaves collected were washed and air dried at room temperature for fourteen (14) days. The samples were then pulverized into fine powder with the aid of mortar and pestle. 200 g of the powdered sample was then soaked into 1000 mL of distilled water and allowed to stand at room temperature where it was stirred every 24 h for a period of 72 hours, after which the mixture was pressed and strained by filtration, using Whatman no. 1 filter paper

and the solvent was evaporated using a water bath and crucible at 400c until the extract was dried.

Phytochemical analysis

Qualitative phytochemical screening of the extract was carried out according to the method described by Nweze et al. (2012).

Sub-acute toxicity assay

Four (4) doses were administered to rats for 21 days for sub-acute toxicity determination. Twenty (25) rats were grouped into 5 groups of 5 rats each. The rats were grouped accordingly were group 1 received grower mash and distilled water only, group 2 received 100 mg/kg b.wt. of the extract, group 3 received 200 mg/kg b.wt. of the extract, group 4 received 400 mg/kg b.wt. of the extract, and group 5 received 800 mg/kg b.wt of the extract.

Sample collection

After 21 days of daily administration, the blood samples were collected by dissecting the rats followed by cardiac puncture after a mild anesthesia with chloroform. The blood samples were analyzed for albumin, ALT, AST, ALP, creatinine, and urea levels based on the methods described by Rietman and Frankel (1957), Wright *et al.* (1972), Penhaker *et al.* (2013), and Rifai (2018). The method described by Dacie and Lewis (2016) was used to determine the levels of hematological parameters.

Statistical analysis

All data collected from the study were statistically recorded as mean $\pm$ standard error of mean. Statistical differences among the mean values were determined using Analysis of Variance Test (ANOVA) followed by Duncan's Multiple Range Test. IBM SPSS statistics software version 23 was used to analyze all data collected.

RESULTS

Phytochemical components of aqueous *P. niruri* leaf extract are presented in Table 1. The phytochemicals screened for includes alkaloids, flavonoids, phenols, tannins, and saponins. The result disclosed the presence of all the phytochemicals assayed for.

Table 1. Phytochemical screening of aqueous leaf extract of *Phyllanthus niruri*

Phytochemical	Inference
Alkaloids	+
Flavonoids	+
Saponins	+
Tannins	+
Phenols	+

Key: + = present

Table 2 shows the serum levels of liver function parameters, albumin, alanine aminotransferase, aspartate aminotransferase, alkaline phosphatase of albino rats treated with *P. niruri* leaf extract for 21 days. The results showed that the levels of liver function parameters increased with increase in dose ($p < 0.05$) when compared with the control group, except for Albumin which showed no significant difference when compared with the control group.

Table 2. Effect of aqueous leaf extract of *P. niruri* on liver function

Group	Albumin (g/dL)	ALT (IU/L)	AST (IU/L)	ALP (IU/L)
Control	3.70 ± 0.11^a	17.00 ± 1.15^a	57.66 ± 0.66^a	54.33 ± 1.45^a
100 mg/kg Extract	3.73 ± 0.06^a	21.00 ± 1.15^a	65.33 ± 2.02^b	59.33 ± 0.88^{ab}
200 mg/kg Extract	4.06 ± 0.06^a	27.00 ± 1.15^a	77.33 ± 1.20^c	63.66 ± 1.76^b
400 mg/kg Extract	4.33 ± 0.03^a	31.66 ± 0.66^c	85.66 ± 1.45^d	78.00 ± 1.52^c
800 mg/kg Extract	4.33 ± 0.06^a	35.33 ± 0.88^c	94.00 ± 1.73^e	86.00 ± 1.15^d

All data are presented as mean $\pm$ SEM. Different superscripts down the column indicates that they are significantly different at ($p < 0.05$), $n=5$

Table 3 shows the effects of *P. niruri* aqueous leaf extract on serum creatinine and urea levels, were the results showed no significant difference ($p < 0.05$) in all the groups when compared to the control group.

Table 3. Effect of aqueous leaf extract of *P. niruri* on serum urea and creatinine

Groups	Creatinine (mg/dL)	Urea (mg/dL)
Control	0.53 ± 0.03^a	17.66 ± 0.33^a
100 mg/kg Extract	0.63 ± 0.03^a	16.33 ± 0.33^a
200 mg/kg Extract	0.66 ± 0.03^a	15.66 ± 0.88^a
400 mg/kg Extract	0.63 ± 0.03^a	16.00 ± 0.57^a
800 mg/kg Extract	0.73 ± 0.03^a	17.00 ± 0.57^a

All data are presented as mean $\pm$ SEM. Different superscripts down the column indicates that they are significantly different at ($p < 0.05$), $n=5$

The effects of *P. niruri* aqueous leaf extract on hematological parameters were shown in table 4. There was a significant decrease ($p < 0.05$) in the levels of PCV and RBC when treatment groups were compared to the control groups, however, there was no significant difference ($p < 0.05$) observed in the groups treated with the extract. WBC, Hb, and MCV showed a significant increase ($p < 0.05$) in a dose dependent manner and when compared with the control group.

Table 4. Effect of *P. niruri* on hematological parameters

Group	PCV (%)	WBC ($\%10^9/L$)	RBC ($\%10^{12}/L$)	Hb (g/dL)	MCV (fl)
Control	41.66 $\pm$ 0.66 ^b	94.66 $\pm$ 1.52 ^a	5.06 $\pm$ 0.20 ^b	9.88 $\pm$ 0.19 ^a	70.44 $\pm$ 0.19 ^a
100 mg/kg Extract	33.66 $\pm$ 1.20 ^a	95.00 $\pm$ 0.88 ^b	4.26 $\pm$ 0.15 ^a	13.44 $\pm$ 0.58 ^b	88.05 $\pm$ 1.40 ^c
200 mg/kg Extract	34.66 $\pm$ 0.66 ^a	101.00 $\pm$ 1.15 ^b	4.16 $\pm$ 0.37 ^a	10.88 $\pm$ 0.50 ^b	71.16 $\pm$ 2.65 ^b
400 mg/kg Extract	37.33 $\pm$ 1.85 ^a	101.66 $\pm$ 1.20 ^c	4.10 $\pm$ 0.10 ^a	11.44 $\pm$ 0.19 ^b	87.43 $\pm$ 1.94 ^c
800 mg/kg Extract	35.00 $\pm$ 0.57 ^a	108.00 $\pm$ 1.25 ^c	4.56 $\pm$ 0.15 ^a	11.77 $\pm$ 0.69 ^b	86.77 $\pm$ 1.58 ^c

All data are presented as mean $\pm$ SEM. Different superscripts down the column indicates that they are significantly different at ($p < 0.05$), $n=5$

DISCUSSION

Plants synthesize a wide range of chemical substances, some of which are considered very important in treating several diseases. The extraction of these secondary metabolites relies on their ability to dissolve in various solvents (Edewor and Olajire, 2014). The therapeutic benefits of plants stem from their phytoconstituents, which have a specific physiological action on humans (Owolarafe *et al.*, 2022). Over the years, several studies have demonstrated that these phytoconstituents exhibit biological actions, for instance, antimicrobial (Mada *et al.*, 2013), antifungal (Craig, 1999), antioxidant, anticancer (Jafarian *et al.*, 2014), and hepatoprotective (Chinaka *et al.*, 2011). However, other researchers have reported that these bioactive principles can also have toxic effects such as hepatotoxicity (Salau *et al.*, 2012) and nephrotoxicity (Sunmonu *et al.*, 2014). Some of the active phytochemicals identified in this study include alkaloids, flavonoids, saponins, tannins, and phenols. The liver is an essential organ that performs various biochemical activities,

including synthetic and excretory functions; thus, no single biochemical test can fully assess the general function of the liver (Thapa and Walia, 2007; Ahmed *et al.*, 2022). Serum ALT and AST levels reflect hepatocellular injury, while serum ALP indicates impaired bile excretion and bile flow (Ahmed *et al.*, 2022). The observed significant increase in the serum levels of the enzymes suggests that the aqueous leaf extract is toxic in a dose-dependent manner, as higher doses result in elevated serum levels. The significant rise in serum ALP levels may indicate hepatic obstruction of bile flow. Albumin is an important protein produced by the liver (Rothschild *et al.*, 1997). The serum albumin level in this study neither shows a significant increase nor a decrease; thus, it may suggest that the aqueous leaf extract of *P. niruri* does not impact the metabolic pathways of albumin.

Serum creatinine concentration has been used to assess and evaluate kidney function, rising only when the glomerular filtration rate (GFR) has diminished by one-half. Thereafter, the increase in creatinine is exponential to the decline in GFR (Korhonen, 2015; Ahmed *et al.*, 2022). This study observed no significant difference in serum creatinine levels, which may indicate that the aqueous *P. niruri* leaf extract doesn't affect the glomerular filtration rate. Urea, a by-product of protein and amino acid breakdown produced by the liver, is distributed throughout intracellular and extracellular fluid (Gowda *et al.*, 2010). It is filtered from the blood by the glomeruli in the kidney and is partially reabsorbed with water. This compound is another common biochemical parameter for estimating kidney function and is useful in the differential diagnosis of acute and pre-renal conditions (Gowda *et al.*, 2010).

The decrease in some hematological parameters upon administration of aqueous extracts of *P. niruri* leaf (PCV and RBC), which were not dose-dependently different, however, when compared to the control group, the treatment group showed a significant increase. This may be an indication corroborating toxicity leading to the decrease in these parameters (Zhu *et al.*, 2021). Statistically significant increase in WBC, Hb, and MCV concentration gives a suggestion, which may be due to the toxicity of certain phytoconstituents within the which may be affecting an inflammatory response in the biological system (Bello *et al.*, 2016).

CONCLUSION

Based on the observed results from this study, the aqueous *P. niruri* leaf extract is not completely safe and a prolonged period of administration of this extract may lead to severe adverse effects on the biological system.

REFERENCES

- Ahmed, M. U., Titus, D., & Umaru, I. J. (2022). Toxicological Evaluation of Aqueous Stem Bark Extract of *Guiera senegalensis* on Wistar Rats. *International Journal of Traditional and Complementary Medicine Research*, 3(1), 45-51.
- Azwanida, N. N. (2015). A review on the extraction methods use in medicinal plants, principle, strength and limitation. *Med aromat plants*, 4(196), 2167-0412.
- Bello, I., Bakkouri, A. S., Tabana, Y. M., Al-Hindi, B., Al-Mansoub, M. A., Mahmud, R., & Asmawi, M. Z. (2016). Acute and sub-acute toxicity evaluation of the methanolic extract of *Alstonia scholaris* stem bark. *Medical sciences*, 4(1), 4.
- Calixto, J. B., Santos, A. R., Filho, V. C., & Yunes, R. A. (1998). A review of the plants of the genus *Phyllanthus*: their chemistry, pharmacology, and therapeutic potential. *Medicinal research reviews*, 18(4), 225-258.
- Chatterjee, M., & Sil, P. C. (2006). Hepatoprotective effect of aqueous extract of *Phyllanthus niruri* on nimesulide-induced oxidative stress in vivo.
- Chinaka, O. N., Okwoche, J. O., & Dozie, N. O. (2011). The hepatoprotective effect of *Senna occidentalis* methanol leaf extract against acetaminophen-induced hepatic damage in rats.
- Couto, A. G., Kassuya, C. A., Calixto, J. B., & Petrovick, P. R. (2013). Anti-inflammatory, antiallodynic effects and quantitative analysis of gallic acid in spray dried powders from *Phyllanthus niruri* leaves, stems, roots and whole plant. *Revista Brasileira de Farmacognosia*, 23(1), 124-131.
- Craig, W. J. (1999). Health-promoting properties of common herbs. *The American journal of clinical nutrition*, 70(3), 491S-499S.
- Dacie, J. V., Lewis, S. M. (2016). Practical haematology (12th ed.). (C. Livingston, Ed.) London: Elsevier.
- Edewor, T. I., & Olajire, A. A. (2014). Phytochemical and GC-MS profile of fractions obtained from methanolic extract of *Acanthospermum hispidum* DC.
- Ezzat, M. I., Okba, M. M., Ahmed, S. H., El-Banna, H. A., Prince, A., Mohamed, S. O., & Ezzat, S. M. (2020). In-depth hepatoprotective mechanistic study of *Phyllanthus niruri*: In vitro and in vivo studies and its chemical characterization. *PloS one*, 15(1), e0226185.
- Gowda, S., Desai, P. B., Kulkarni, S. S., Hull, V. V., Math, A. A., & Vernekar, S. N. (2010). Markers of renal function tests. *North American journal of medical sciences*, 2(4), 170.
- Harish, R., & Shivanandappa, T. (2006). Antioxidant activity and hepatoprotective potential of *Phyllanthus niruri*. *Food chemistry*, 95(2), 180-185.

- Ifandi, S., Jumari, J., & Suedy, S. W. A. (2016). Knowledge understanding and utilization of medicinal plants by local community Tompu District of Kaili, Sigi Biromaru, Central Sulawesi. *Biosaintifika: Journal of Biology & Biology Education*, 8(1), 1-11.
- Jafarian, A., Zolfaghari, B., & Shirani, K. (2014). Cytotoxicity of different extracts of arial parts of *Ziziphus spina-christi* on Hela and MDA-MB-468 tumor cells. *Advanced biomedical research*, 3(1), 38.
- Khan, H. (2014). Medicinal plants in light of history: recognized therapeutic modality. *Journal of evidence-based complementary & alternative medicine*, 19(3), 216-219.
- Korhonen, P. E. (2015). How to assess kidney function in outpatient clinics. *International Journal of Clinical Practice*, 69(2), 156-161.
- Mada, S. B., Garba, A., Mohammed, H. A. A., Muhammad, A., Olagunju, A., & Muhammad, A. B. (2013). Antimicrobial activity and phytochemical screening of aqueous and ethanol extracts of *Momordica charantia* L. leaves. *Journal of Medicinal Plants Research*, 7(10), 579-586.
- Meilani, R., Asra, R., & Rivai, H. (2020). Reviews on ethnopharmacology, phytochemistry, and pharmacology of meniran (*Phyllanthus niruri* L.). *World Journal of Pharmacy and Pharmaceutical Sciences*, 9(11), 144-164.
- Obat, B. P., & Indonesia, M. R. (2008). Taksonomi koleksi tanaman obat kebun tanaman obat Citeureup. *Jakarta: Direktorat Obat Asli Indonesia BPOM RI*, 15.
- Owolarafe, T., Ihegboro, G., Salawu, K., Ononamadu, C., Fadilu, M., & Musa, B. (2022). Toxicological investigation of aqueous extract of *Ziziphus mauritiana* leaves on wistar rats. *International Journal of Traditional and Complementary Medicine Research*, 3(2), 91-100.
- Patwardhan, B., Vaidya, A. D., Chorghade, M., & Joshi, S. P. (2008). Reverse pharmacology and systems approaches for drug discovery and development. *Current Bioactive Compounds*, 4(4), 201-212.
- Penhaker, M., Kasik, V., Hrvolova, B. (2013). Advanced Bilirubin Measurement by a Photometric Method. *Elektronika Ir Elektrotehnika.*; 19(3). 47-50.
- Rietman, S., Frankel S. A. (1957). Colorimetric method for the determination of serum glutamic oxalacetic and glutamic pyruvic transaminases. *American Journal of Clinical Pathology*. 1957;28. 56–63
- Rifai, N. (2018). Tietz Textbook of Clinical Chemistry and Molecular Diagnostics. 6th Edition
- Rothschild, M. A., Oratz, M., & SCHREIBER, S. S. (1977). Albumin synthesis. *Albumin: Structure, Function and Uses*, 227-253.
- Salau, A. K., Yakubu, M. T., Oluleye, D. S., Oloyede, O. B., & Akanji, M. A. (2012). Toxicological evaluation of aqueous leaf extract of *Ficus exasperata* on selected tissues of normal Wistar rats. *CPJ*, 2012047, 18105.
- Shilpa, V. P., Muddukrishnaiah, K., Thavamani, B. S., Dhanapal, V., Arathi, K. N., Vinod, K. R., & Sreeranjini, S. R. (2018). In vitro immunomodulatory, antifungal, and antibacterial screening of *Phyllanthus niruri* against to human pathogenic microorganisms. *Environmental Disease*, 3(3), 63-68.

- Sunmonu, T. O., Oloyede, O. B., Owolarafe, T. A., Yakubu, M. T., & Dosumu, O. O. (2014). Toxicopathological evaluation of *Picralima nitida* seed aqueous extract in Wistar rats. *Turkish Journal of Biochemistry/Turk Biyokimya Dergisi*, 39(2).
- Suraya, A. A., Misran, A., & Hakiman, M. (2021). The efficient and easy micropropagation protocol of *Phyllanthus niruri*. *Plants*, 10(10), 2141.
- Thapa, B. R., & Walia, A. (2007). Liver function tests and their interpretation. *The Indian Journal of Pediatrics*, 74, 663-671.
- Triyono, A. (2016). 'Tujuh ramuan jamu saintifik: pemanfaatan mandiri oleh masyarakat. *Jakarta: Kementerian Kesehatan Republik Indonesia*.
- Wright, P. J., Leathwood, P. D., Plummer, D. T. (1972). Enzymes in rat's urine: Alkaline phosphatase. *Enzymology*. 42. 317-327
- Zhu, B., Feng, X., Jiang, C., Mi, S., Yang, L., Zhao, Z., ... & Zhang, L. (2021). Correlation between white blood cell count at admission and mortality in COVID-19 patients: a retrospective study. *BMC infectious diseases*, 21, 1-5.